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1.What option does the central government not include 
in the development expenditure? 

A) Grants to states 

B) Expenditure on social and community services 

C) Expenditure on economic services 

D) Defence expenditure 



 

 

 

2. Which of the following defines depreciation? 

A) Destruction of a plant in a fire accident 

B) Loss of equipment over time due to wear and tear 

C) Closure of a plant due to labour trouble 

D) Closure of a plant due to lockout 

 



 

 

3. Generally, deficit financing can create inflation. 
However, it can be checked if _________. 

A) government expenditure increases the aggregate supply 
in the aggregate demand ratio. 

B) all the investment is indicated as payment on national 
debt only. 

C) only the aggregate demand is increased. 

D) All of the above 



 

 

 

4.With which of the following did the ARDC merged 
with on 12 July, 1982? 

A) NABARD 

B) EXIM Bank 

C) RBI 

D) None of the above 



 

 

 

5. What is the main cause of the export surplus? 

A) The country’s stringent import policy 

B) Developments in national and international markets 

C) The country’s exports promotion value 

D) None of the above 

 



 

 

 

6. If RBI reduces the cash reserve ratio, what will 
happen to the credit creation? 

A) There will be no impact. 

B) It will decrease. 

C) It will increase. 

D) None of the above 



 

 

 

7. Which option is not mentioned in a firm’s balance 
sheet? 

A) Cash held at the bank 

B) Revenue from sales of the company’s products 

C) Total issued capital 

D) Value of the stocks of raw materials held 



 

 

 

8. Which of the following does the state financial 
corporation in the State Bank of India give special 
assistance to? 

A) Medium and small-scale industries 

B) Large-scale industries 

C) Cottage industry 

D) Agricultural farms 



 

 

 

9. Which of the following are the central cooperative 
banks directly associated with? 

A) Central government 

B) Land development banks 

C) State cooperative banks 

D) Farmers 



 

 

 

10. The first complete Indian Bank was established in 
which year? 

A) 1794 

B) 1894 

C) 1896 

D) 1902 



 

 

 

11 The foreign direct investment includes _______ . 

A) Intellectual properties 

B) Human resources 

C) Tangible goods 

D) Intangible goods 

 



 

 

 

12. The three disputes of FDI are over ______ . 

A) Concern 

B) Interest 

C) Regard 

D) Hobby 

 



 

 

 

13. More expansion of foreign direct investment can 
boost __________ . 

A) Money circulation 

B) Demand 

C) Employment 

D) Unemployment 



 

 

 

14.The _______________ initiative was launched to 
modernize the Indian economy to make all 
governments services available electronically. 

 
A. Standup India 
B. Startup India 
C. Digital India 
D. Make in India 



 

 

 
15.Stand-up India was launched in 

 
a) 2015 

 
b) 2016 

 
c) 2017 

 
d) 2018 



 

 

 
16.National Skill Development Mission was unveiled in 
 

a) March 2014 
 

b) September 2014 
 

c) March 2015 
 

d) July 2015 



 

 

 
17. Who presents Budget in Parliament? 

a) Prime Minister 
 

b) Finance Minister 
 

c) Home Minister 
 

d) President of India 



 

 

 
 
18. How many times Nirmala Sitharaman presented 
the budget in parliament? 

a) 5 
b) 1 
c) 3 
d) 4 

 



 

 

 
 
19. Who presented India’s first-ever budget? 

a) James Wilson 
b) Jawaharlal Nehru 
c) Lord Mountbatten 
d) C Rajagopalachari 

 
 



 

 

 
20.Budget 2021-22 proposals to rest on six pillars. 
Which of the following is not among them? 

a) Health & well being 
b) Minimum Government, Maximum Governance 
c) Innovation and R&D 
d) Agricultural Development 

 

 



 

 

 

21.Debenture holders are 

A) Debtors of the Company 

B) Creditors of the Company 

C) External users 

D) Owners of the Company 

 



 

 

 

22.Debentures indicate the 

A) Short-term Borrowings of a Company 

B) Directors’ shares in a company 

C) The Investment of Equity-Shareholders 

D) Long-term Borrowings of a Company 

 



 

 

 

23.In debenture, interest payable is 

A) Transferred to general reserve 

B) Transferred to falling fund investment account 

C) Charged against the firm’s profits 

D) Appropriation of the company’s profits 

 



 

 

 

24.In Law of Demand, the demand curve is: 

 a) Downward sloping  

b) Upward sloping  

c) Horizontal to the X axis  

d) U shaped 

 



 

 

 

25. “No Change in Fashion” is the assumption of which 
of the following laws of economics? 

 a) Law of Production  

b) Law of Demand  

c) Law of Diminishing Returns  

d) Law of Rent 



 

 

 

26. A__________ is one when there is no change 
produced in the demand of a product with change in its 
price.  

a) Perfectly Elastic Demand  

b) Unitary Elastic Demand  

c) Perfectly Inelastic Demand  

d) Relatively Elastic Demand  



 

 

 

27. Under ___________ comes the expenditure 
incurred by private enterprise on new investment and 
on replacement of old capital.  

a) Gross Domestic Private Investment  

b) Net Domestic Private Investment  

c) Total Domestic Private Investment  

d) Accumulated Domestic Private Investment  



 

 

 

28. All revenues raised by the government, money 
borrowed and receipts from loans given by the 
government flow into the _____________.  

a) Total fund of India  

b) Net fund of India  

c) Consolidated fund of India  

d) Gross fund of India  



 

 

 

29.Regional Rural banks are covered under:  

a) Commercial Banks 

 b) Small Finance Banks  

c) Payments Banks  

d) Co-operative Banks  

 



 

 

30. The Government of India has launched a______ aimed 
at adding more smartphone components under the Make 
in India initiative thereby giving a push to the domestic 
manufacturing of mobile handsets. 

 a) Performance Manufacturing Programme (PMP) 

 b) Phased Manufacturing Programme (PMP)  

c) Proper Manufacturing Programme (PMP) 

d) Profit Manufacturing Programme (P 



 

 

31._____________ is an investment by foreign entities 
and non-residents in Indian securities including shares, 
government bonds, corporate bonds, convertible 
securities, infrastructure securities etc.  

a) Foreign Funds Investment 

 b) Foreign Exchange Investment  

c) Foreign Direct Investment  

d) Foreign Portfolio Investment 



 

 

 

32. The long form of NSDC is: 

 a) New Skill Development Corporation  

b) National Skill Development Corporation  

c) National Skill Development Company  

d) New Skill Development Company 

 



 

 

 

33.The functional relationship of Law of Demand is 
denoted by: 

 a) Dx = q(Px)  

b) Dx = s(Px)  

c) Dx = f(Px)  

d) Dx = r(Px)  



 

 

 

34. “No Change in Consumer Preferences” is the 
assumption of which of the following laws of 
economics? 

 a. Law of Constant Returns to Scale  

b. Law of Demand  

c. Law of Variable Proportion  

d. Law of Increasing Returns to Scale 



 

 

 

35. If percentage change in quantity demanded is 10% 
and percentage change in price is 5%, then price 
elasticity of demand will be?  

a. 2  

b. 1  

c. 0.5  

d. 4  
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1) Where did the Jallianwala Bagh Massacre happen? 
A. Jalandhar 
B. Patiala 
C. Amritsar 
D. Bhatinda 
 



 

 

 
 
2) _______ is Culturing SARS-CoV-2 Virus for Testing 
Repurposed & New Drugs. 
A. AIIMS 
B. Module Innovations Pvt. Ltd. 
C. CSIR-CCMB 
D. DRDO 



 

 

 
 
3) The year 2020 marked the _______ anniversary of 
Jallianwala Bagh Massacre. 
A.100th 
B.101st 
C.102nd 
D.103rd 



 

 

 
 
4) Which state's SRLM initiated Didi Helpline? 
A. Uttar Pradesh 
B. Jharkhand 
C. Odisha 
D. Bihar 
 



 

 

 
 
5) Translational Health Science and Technology 
Institute (THSTI) functions under ________. 
A. Ministry of Human Resource Development 
B. Ministry of Science & Technology 
C. Ministry of Education & Research 
D. Ministry of Labour and Employment 



 

 

 
6) BRO opened the _______ which connects Ladakh 
with the rest of the world, after 4 months. It was closed 
in December 2019. 
A. Srinagar-Leh highway 
B. Jammu-Srinagar National Highway 
C. Leh-Manali Highway 
D. Jammu-Manali Highway 



 

 

 
7) Where is Zojila located? 
A. Ladakh 
B. Jammu 
C. Himachal Pradesh 
D. Uttarakhand 
 
 



 

 

 
 
 
8) Bihu is the festival celebrated in _______. 
A. Arunachal Pradesh 
B. Assam 
C. Manipur 
D. Mizoram 



 

 

 
 

9.Who wrote the book Wealth of Nations? 
A. RaghuramRajan 
B. JohnMaynardKeynes 
C. AdamSmith 
D.  None of the above 
 



 

 

 
 
10.Who wrote the book The Making of India? 

A. AkhileshTilotia 
B. AmartyaSen 
C. AmitChaudhuri 
D. Amitav Ghosh 

 
 



 

 

 
 

11.Who wrote the book A Suitable Boy? 
A. [A]SalmanRushdie 
B. ArundhatiRoy 
C. AmitavGhosh 
D.  Vikram Seth 

 
 



 

 

 

12.Which movie has been named as India’s official entry 
to Oscars 2020? 

A. Article15 
B. GullyBoy 
C. Kesari 
D. Badhaai Ho 

 



 

 

 
13.Which Indian movie has won the Best Feature Film 
award at the 2019 SAARC film festival? 

A. Walking With the Wind 
B. Village Rockstars 
C.  Nagarkirtan 
D.  Na Bole Wo Haram! 

 
 



 

 

 
 
14.Which country won gold medal in men’s football in 
Tokyo Olympics, 2021? 
[A] Germany 
[B] Mexico 
[C] Spain 
[D] Brazil 
 



 

 

 

15.Anshu Malik, who was seen in the news recently, is 
associated with which sports? 

[A] Wrestling 
[B] Weight- Lifting 
[C] Fencing 
[D] Table Tennis 
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1.Choose the misspelled word from below: 
a. Definite 
b. Millennium 
c. Ryhthm 
d. Ceiling 
 



 

 

 
2. Fill up the blanks by choosing the most appropriate 
option: 
It’s unfortunate that he died_____ cancer/ 
a. of 
b. with 
c. from 
d. by 



 

 

 
3. “Dear Sir/Madam” in a letter is: 
a. Attention line 
b. Subject heading 
c. Main Body 
d. Salutation 
 
 



 

 

 
4. A Litigant is: 
a. A formal legal document 
b. A party to a case 
c. Authority given to take some action 
d. Principal amount 
 
 



 

 

5. In a _________format of letter layout, the date, all 
references, subject, 
salutation, paragraph of the body, conclusion and 
signature, all commence at the left margin. 
a. Partially-blocked 
b. Semi-blocked 
c. Blocked 
d. All of the above 



 

 

 
6. Choose the most appropriate option for the following 
question: 
“Vis-à-vis” means: 
a. agree 
b. face-to-face 
c. direct 
d. opposite 



 

 

 
7. According to __________, Communication in its 
simplest form of conveying 
of information from one person to another. 
a. Drucker 
b. Kotler 
c. Hudson 
d. Scott 



 

 

 
8. Choose the most grammatically correct option from 
below : 
a. The Titanic did not reach its destination 
b. The Titanic did not reach her destination 
c. The Titanic did not reach their destination 
d. The Titanic did not reach his destination 
 



 

 

 
9. Choose the correct spellings in options given below: 
a. Remuneration 
b. Renumeration 
c. Remunaration 
d. Renumaration 
 
 



 

 

 
10. Choose most appropriate option: Nature writing 
emphasizes on: 
i. Historical facts about the nature 
ii. Philosophical interpretations of the nature 
iii. Scientific information and facts 
a. (i), (ii) and (iii)         b. Only (i) and (ii) 
c. Only (i) and (iii)      d. None of the above 



 

 

 
11. Choose the correct spellings in options given below: 
a. Adherense 
b. Adherance 
c. Adharenced. 
d. Adherence 
 
 



 

 

 
12. An amount set aside out of profits or surpluses to meet 
contingencies is 
called: 
a. Repo 
b. Reserve 
c. Collateral 
d. Royalty 



 

 

 
13. Choose the most appropriate option for each of the 
following questions: 
“Amicus curiae” means: 
a. One among the expert witnesses in a case. 
b. A friend of the court 
c. One among the parties to the dispute 
d. One of the judges of the court 



 

 

 
14. Any deleted mail is put in ________ folder. 
a. Trash 
b. Spam 
c. Inbox 
d. Sent 
 
 



 

 

 
15. A letterhead contains the following: 
a. Company logo 
b. Name and address of registered office, Corporate office 
c. Contact numbers 
d. All of the above 
 
 



 

 

16. __________allows cumbersome knowledge to be 
maintained and easily 
accessed throughout the company using hypermedia and 
web technologies. 
a. Web publishing 
b. Web communication 
c. Web circulars 
d. Website 



 

 

 
17. The choice of means and mode of communication 
depends on: 
a. Nature of message 
b. Distance involved 
c. Organisation size and policy 
d. All of the above 
 



 

 

 
18. Complete the following sentence: 
The reward was not commensurate ___________ the work 
done by us. 
a. order 
b. for 
c. with 
d. on 



 

 

 
19. Arrange the following jumbled sentences in a meaningful paragraph: 
A. party next week 
B. her birthday 
C. all friends to 
D. she is inviting 
a. DCBA 
b. DCAB 
c. CDBA 
d. ABCD 
 



 

 

 
 

20. Arrange the following jumbled sentences in a meaningful paragraph: 
A. on Indian architechture 
B. at the books 
C. like to look 
D. I would 
a. CABD 
b. ABCD 
c. DBCA 
d. DCBA 
 



 

 

Read the following passage and answer the questions 21 to 29. 
Once a man saw three masons along with some labourers constructing a temple. He 
observed the masons for three days and found that though the three of them were doing the 
same kind of work, there was a marked difference in their approach to their job. He saw 
that the first mason reported for his work late, did his work half-heartedly and sluggishly, 
enjoyed a longer respite, frequently checked the time on his wristwatch and left the work 
before time. The second mason was very punctual in arriving and leaving, and did his 
work methodically. The third mason, however, would come before time, take little rest in 
the interval and often worked overtime. 
The man naturally got curious and wanted to know the three masons’ outlook on their 
work. He asked them what they were doing. The first mason tapped his belly with his hand 
and said, “I am constructing a building.” The third mason looked at the huge building and 
said, “I ambuilding the house of God.”  



 

 

 
 

21. What were the three masons doing? 
a. Constructing a temple 
b. Constructing a house 
c. Constructing a shop 
d. Constructing a dam 
 
 



 

 

 
22. For how long did a man observe them? 
a. Four days 
b. Three days 
c. Two days 
d. Five days 
 
 



 

 

 
23. What made the man curious? 
a. The different approach of the two masons towards their 
job. 
b. The different approach of one mason towards his job. 
c. The different approach of the three masons towards 
their job. 
d. None of the above. 



 

 

 
24. How did the first mason do his job? 
a. reported late and enjoyed a longer respite. 
b. reported late, did his work half-heartedly and sluggishly and 
enjoyed 
a longer respite. 
c. reported late and did his work half-heartedly and sluggishly. 
d. reported late, did his work half-heartedly and sluggishly, enjoyed a 
longer respite and left work before time. 
 



 

 

 

25. What was the second mason’s approach towards his job? 
a. punctual in arriving and leaving, and did his work 
methodically. 
b. late in arriving and early in leaving. 
c. punctual in arriving and late in leaving but didn’t do his work 
methodically 
d. early in arriving and early in leaving. 
 



 

 

 
26. How did the third mason view his job? 
a. as if his building a simple hut. 
b. as if his building a castle for a king. 
c. as if he is building the house of God. 
d. as if he is building a school for children. 
 
 



 

 

 
27. With whom among these can you associate the phrase 
‘work is worship’? 
a. the first mason. 
b. the third mason. 
c. the second mason. 
d. none of the above. 
 



 

 

 
28. Which word in the passage means ‘working lazily’? 
a. actively. 
b. enthusiastically. 
c. sluggishly. 
d. methodically. 
 
 



 

 

 
29. Which word in the passage means the opposite of 
‘carelessly’? 
a. indolently. 
b. lazily. 
c. sluggishly. 
d. methodically. 
 



 

 

 
30. While adjectives qualify or add to the meaning of nouns, 
_________ modify 
the meaning not only of verbs, but also of adjectives, prepositions, 
conjunctions, etc. 
a. noun 
b. adverbs 
c. pronoun 
d. Interjections 



 

 

 
31. I read a book. Which form of tense has been used in 
this sentence? 
a. Simple present 
b. Present continuous 
c. Present perfect 
d. Present perfect continuous 
 



 

 

 
32. The clause that makes good sense by itself, and hence 
could stand by itself, 
as a separate sentence is called a________. 
a. Normal or General Clause. 
b. Superior or Super Clause. 
c. Dependent or Subordinate Clause. 
d. Principal or Main Clause. 



 

 

 
33. __________ are prefixes that support or are for the 
root word. 
a. Reversative Prefixes. 
b. Negative Prefixes. 
c. Supportive Prefixes. 
d. Opposing Prefixes. 
 



 

 

 
34. _________ is a language that is unique to a particular 
field of knowledge, 
e.g., science, technology, art, trade or a profession. 
a. Prefixes. 
b. Abbreviation. 
c. Terminology. 
d. Jargon. 



 

 

 
35. Which of the following is the synonyms of the word, 
‘Abundant’? 
a. Plentiful. 
b. Scarce. 
c. Enthusiastic. 
d. Lethargic. 
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1.Which of the following JUSTICE is not secured to all its 
citizens according to Preamble of the Constitution of 
India? 
a) Social 
b) Political 
c) Financial 
d) Economical 



 

 

 
2. Protection of Life and Personal Liberty is provided in 
__________________ of the Constitution of India. 
a) Article 21 
b) Article 21A 
c) Article 25 
d) Article 123 
 



 

 

 
3. _________________________ is also known as Mini-
Constitution. 
a) Constitution (Forty – Second Amendment) Act, 1976 
b) The Constitution (Second Amendment) Act, 1952 
c) The Constitution (First Amendment) Act, 1951 
d) Constitution (Sixty – Ninth Amendment) Act, 1991 
 



 

 

4. Which of the following statement is true with respect to 
‘Del Credre Agent’? 
a) A del credere agent is a mercantile agent 
b) A del credere agent is not an Agent 
c) A del credere agent is owner, not an agent 
d) In the event of a third-party failing to pay, the del 
credere agent is not 
bound to pay his principal the sum owned by thirdparty 



 

 

5. Which of the following is not a disadvantage of 
Corporate Form of Enterprise? 
a) Formalities and expenses 
b) Corporate disclosures 
c) Limited Liability 
d) Detailed winding-up procedure 
 



 

 

6. Section 23 of the Indian Contract Act, 1872 provides 
that the consideration 
or object of an agreement is lawful unless it is: 
a. Forbidden by law 
b. Is fraudulent 
c. The Court regards it as immoral or opposed to public 
policy 
d. All the above 



 

 

 
 
7. An illegal agreement is entirely ………….. 
a. Void 
b. Voidable 
c. Valid 
d. None of these 
 



 

 

8. Electronic contracts are not paper based but rather in 
electronic form are 
born out of the need for 
………………………………………. 
a. Speed 
b. Convenience 
c. Efficiency 
d. All the above 



 

 

9. Who defines torts as ”a civil wrong for which the remedy is a 
common law 
action for unliquidated damages and which is not exclusively the 
breach of 
a contract or the breach of a trust or other merely equitable 
obligation.” 
a. Kelsen 
b. Savigny 
c. Salmonds 
d. Austin 



 

 

 
10. Which legal maxim means that “the act itself creates 
no guilt in the 
absence of a guilty mind”? 
a. Actus non facit reum nisi mens sit rea 
b. Damnum Sine Injuria 
c. Injuria Sine Damnum 
d. None of these 



 

 

11. Section 6 of Indian Contract Act, 1872 deals with 
various modes of ……………. 
of an offer 
a. Giving 
b. Effecting 
c. Agreement 
d. Lapse 
 



 

 

12.WHICH OF THE FOLLOWING ARE THE FUNCTIONS 
OF THE INSTITUTE OF COMPANY SECRETARIES OF 
INDIA?  
(A) EXAMINATION OF THE OF THE STUDENT  
(B) REGULATION OF TRAINING OF THE STUDENTS  
(C) CONDUCT OF ELECTIONS TO THE COUNCIL OF THE 
INSTITUTE  
(D) ALL OF THE ABOVEEGAL  
 



 

 

 
13.THE ICSI, ITS MEMBERS AND THE TEAM ICSI PLEDGE TO 
UPHOLD THE ESTABLISHED PRINCIPLES OF PROFESSIONAL 
ETHICS, VALUES AND STANDARDS AND WILL ALWAYS PROMOTE 
HONESTY AND TRANSPARENCY IN THEIR BEHAVIOUR, 
PRACTICES AND PROCESSES.  
A)ICSI  
B)MEMBERS OF ICSI  
C)TEAM OF ICSI  
D)ALL OF THE ABOVE  



 

 

 
14. MINIMUM NO. OF DIRECTORS IN CASE OF A 
PUBLIC COMPANY IS __________.  
A)1  
B)2  
C)3  
D)4  
 



 

 

15.______ IS THE CONCLUSIVE EVIDENCE IN CASE 
OF COMPANY THAT STATUTORY REQUIREMENTS 
HAVE COMPLIED WITH  
A) CERTIFICATE OF INCORPORATION  
B) CERTIFICATE OF COMMENCEMENT OF 
BUSINESS  
C) BOTH  
D) NONE OF THE ABOVE  



 

 

 
 
16. CAN A COMPANY HOLD AN AGM ON PUBLIC 
HOLIDAY?  
A) YES  
B) NO  
C) A) AND B) ARE CORRECT  
D) NONE OF THE ABOVE  



 

 

 
17. An offer may be revoked by the offeror at any time 
before ……………… 
a. Acceptance 
b. Agreement 
c. Applicability 
d. Effect 
 



 

 

 
18. A stranger to a contract cannot sue under 
………………………… for want of 
privity of contract 
a. English Law 
b. Indian Law 
c. Both (a) & (b) 
d. None of these 



 

 

 
19. Under the Indian Contract Act, 1872, the 
Consideration may be: 
a. Past 
b. Present 
c. Future 
d. All of these 
 



 

 

 
20. Which section provides that a contract which ceases to 
be enforceable by 
law becomes void when it ceases to be enforceable. 
a. Section 2(j) of the Indian Contract Act 
b. Section 19 of the Indian Contract Act 
c. Section 2(k) of the Indian Contract Act 
d. Section 21 of the Indian Contract Act 
 



 

 

 

NKJ CSEET MARATHON TEST SERIES -2 

                     PRESENTATION SKILLS 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 



 

 

 
1. ____________ are the names given in common to all 
persons, places or 
things of the same class. For example, bank, shop, market, 
etc. 
a. Common nouns 
b. Proper nouns 
c. Collective nouns 
d. Abstract nouns 



 

 

 
2. Give Synonym for the following word: 
Pensive 
a. Sad 
b. Thoughtful 
c. Tormenting 
d. Affectionate 
 



 

 

 
3. Following is a set of four sentences. Choose the sentence 
which is most 
appropriate – grammatically, semantically & logically. 
a. Hi George. Long time no see. How was it going? 
b. Hi George. We haven’t meet in a long time. How is it going? 
c. Hi George. We haven’t met in a long time. How is it going? 

d. Hi George. Long time no meet. How has it been going? 
 



 

 

4. A___________ is an evaluation or assessment or review of a particular event, 
issue, period or a set of circumstances which is related to a business. 
a. Memorandum 
b. Letter 
c. MIS 
d. Business report 
Based on the following passage answer questions 5 to 8. 
Most people who bother with the matter at all would admit that the  
English language is in a bad way, but it is generally assumed that we cannot by 
conscious action do anything about it.  
Our civilization is decadent and our language-so the argument runs-must inevitably share in the 
general collapse. It follows that any struggle against the abuse of language is a sentimental 
archaism, like preferring candles to electric light or hansom cabs taeroplanes.  



 

 

Underneath this lies the half-conscious belief that language is natural growth and not an instrument which 
we shape for our own purposes. 
Now it is clear that the decline of a language must ultimately have political and economic causes it is not 
due simply to the bad influence of this or that individual writer.  
But an effect can become a cause, reinforcing the original cause and producing the same effect in an 
intensified form, and so on indefinitely. A man may take to drink because he feels himself to be a failure, 
and then fail all the more completely because he drinks. It is rather the same thing that is happening to the 
English language.  
It becomes ugly and inaccurate because our thoughts are foolish, but the slovenliness of our 
language makes it easier for us to have foolish thoughts. The point is that the process is reversible. 
Modern English, especially written English, is full of bad habits which spread by imitation and which can 
be avoided if one is willing to take the necessary trouble. If one gets rid of these habits, one can 
think more clearly, and to think clearly is a necessary first step towards political regeneration: so that the 
fight against bad English is not frivolous and is not the exclusive concern of professional writers. 
 



 

 

 
 
 

5. Many people believe that nothing can be done about the 
English language 
because – 
a. Bad habits spread by imitation 
b. We live in a decadent civilization 
c. There are too may bad writers 
d. People are too lazy to change their bad habits 



 

 

 
6. The author believes that – 
a. It’s now too late to do anything about the problem 
b. Language is a natural growth and cannot be shaped for 
our won purpose 
c. The decline in the language can be stopped 
d. The process of an increasingly bad language cannot be 
stopped 



 

 

 
7. The author believes that the first stage towards the 
political regeneration of 
the language would be – 
a. Taking the necessary trouble to avoid bad habits 
b. Avoiding being frivolous about it 
c. Clear thinking 
d. For professional writers to help 



 

 

 
8. What causes bad language in the end? 
a. The bad influence of individual writers 
b. The imitation of bad language habits 
c. Political and economic causes 
d. An assumption that nothing can be done about 
 
 



 

 

 
9. The vertical network is usually between the_____ 
and_______ . 
a. firm, customer 
b. teacher, student 
c. subordinate, subordinate 
d. superior, subordinate 
 



 

 

 
10. Arrange the following jumbled sentences in a meaningful paragraph: 
A. and investment treaties pertaining to crucial resources like 
B. increasingly essential, such as telecommunications 
C. a lot of arbitration today is centered on trade agreements 
D. oil, gas, energy, and water as well as services that are 
a. CBAD 
b. DABC 
c. DACB 
d. CADB 

 



 

 

 
11. Our dress code is an example of _____________ 
communication. 
(A) verbal  
(B) nonverbal  
(C) written  
(D) spoken 
 



 

 

 
12.Communication strengthens _______ & 
______________ relationship is an organization. 
(A) employer-father  
(B) employer-employer  
(C) mother-employer  
(D) mother-child 
 



 

 

 
13._______________ communication includes tone of 
voice body language, facial expressions etc. 
(A) non verbal  
(B) verbal  
(C) letter 
 (D) notice 
 



 

 

14.When there is similarity of background between the 
sender and the receives such as age, language nationality, 
religion, gender then this is called _____________ 
context. 
(A) social  
(B) cultural  
(C) physical  
(D) dynamic 



 

 

 
15.Letter, e-mail telephone are examples of __________ 
(A) message  
(B) feedback  
(C) channel  
(D) encoding 
 
 



 

 

 
16. The proverb, Birds of a feather flock together means: 
a. From one trouble to another big trouble 
b. Said of something impossible 
c. People of like character come together 
d. One never loses hope 
 
 



 

 

 
17. A well-written _______________ delivers the most 
important information, 
without the recipient even having to open the email. 
a. Salutation 
b. Subject line 
c. Message 
d. None of the above 



 

 

 
18. Choose the most appropriate meaning of the idiom: 
A fair weather friend 
a. A loyal friend 
b. A friend in all times 
c. A friend who cares 
d. A friend who deserts in difficult times 
 



 

 

19. Arrange the following jumbled sentences in a meaningful paragraph: 
a. and investment treaties pertaining to crucial resources like 
b. increasingly essential, such as telecommunications 
c. a lot of arbitration today is centered on trade agreements 
d. oil, gas, energy, and water as well as services that are 
a. CBAD 
b. DABC 
c. DACB 
d. CADB 

 



 

 

 
 
20. Memo is a type of __________. 
a. Written communication 
b. Audio visual communication 
c. Audio communication 
d. Oral communicati 
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1. In a code language, A is written as B, B is written as C, 
C is written as D and so on, then how will CUP be written 
in that code language ? 
a. DVQ  
b. DRS  
c. LMK  
d. NOP  



 

 

 
2. In a certain code, BACK is written as 21311. How is 
TOP written in that code?  
a. 201011  
b. 201415  
c. 201213  
d. 201516  
 



 

 

 
3. If Keyboard is called Sun, Water is called Air, Cup is 
called Pencil, Cloud is called Sky, Sea is called Mercury, 
where does fish swim?  
a. Keyboard  
b. Water  
c. Cloud  
d. Air 



 

 

 
4. A and B are young ones of C. If C is the father of A, but 
B is not the son of C. How are B and C related?  
a. Daughter and Father  
b. None of these  
c. Newphew and Uncle  
d. Niece and Uncle  
 



 

 

 
5. 280 oranges are divided among some boys and girls 
whose total number is 50 so that each boy gets 5 oranges 
and each girl get 7 oranges. The number of girls is  
a. 15  
b. 35  
c. 30  
d. 20 



 

 

 
6. A correct clock shows 9 o'clock in the morning. 
Through how many degrees will the hour hand rotate 
when the clock shows 3 o'clock in the afternoon?  
a. 160°  
b. 150°  
c. 144°  
d. 180°  



 

 

 
7. Choose the word which is not similar to the other words 
in the group.  
a. Dashboard  
b. Dock  
c. Fender  
d. Bonnet  
 



 

 

 
8. An accurate clock shows 10 o'clock in the morning. 
Through how many degrees will the hour hand rotate 
when the clock shows 6 o'clock in the evening?  
a. 180  
b. 220  
c. 190  
d. 240  



 

 

 
9. RAP, MAP, HOT FUN, ? 
a. CAT  
b. HNE  
c. STN  
d. PGI  
 
 



 

 

 
10. What will come in place of Question Mark?  
13, 26, ?, 42, 65  
a. 49  
b. 42  
c. 30  
d. 39 
 



 

 

11. Statements:  
All the Harmoniums are Instruments.  
All the Instruments are flutes.  
Conclusion:  

I. All the flutes are Instruments.  
II. All the Harmoniums are Flutes.  

a. Only I conclusion follows.  
b. Neither I nor II follows  
c. Either I or II follows  
d. Only II conclusion follows  



 

 

12. Arrange the words given below in a meaningful sequence.  
1. Leaf  
2. Fruit  
3. Stem  
4. Root  
5. Flower  
a. 4, 3, 1, 5, 2  
b. 4, 1, 3, 5, 2  
c. 4, 3, 1, 2, 5  
d. 3, 4, 5, 1, 2 

 



 

 

13. Arrange the words given below in a meaningful 
sequence  
1. Police 2. Punishment 3. Crime 4. Judge 5. Judgement  
a. 5, 4, 3, 2, 1  
b. 1, 2, 4, 3, 5  
c. 3, 1, 2, 4, 5  
d. 3, 1, 4, 5, 2  
 



 

 

 
14. Arrange the words given below in a meaningful 
sequence.  
1. Cut 2. Put on 3. Mark 4. Measure 5. Tailor  
a. 2, 4, 3, 1, 5  
b. 1, 3, 2, 4, 5  
c. 3, 1, 5, 4, 2  
d. 4, 3, 1, 5, 2 



 

 

 
15. A man said to a lady, "The son of your only brother is 
the brother of my wife". What is the lady to the man. 
a. Grand father 
b. Mother  
c. Sister of father-in-law  
d. Maternal aunt  
 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 



 

 

 
                ECONOMICS  AND BUSSINESS ENVIRONMENT 
 
 
 

1 D 2 B 3 D 4 A 5 B 

6 C 7 B 8 A 9 C 10 B 

11 C 12 B 13 C 14 C 15 A 

16 D 17 B 18 D 19 A 20 D 



 

 

21 B 22 D 23 C 24 A 25 B 

26 C 27 B 28 C 29 A 30 B 

31 D 32 B 33 C 34 B 35 A 

 
 
 
 
 
 
 
 



 

 

                        CURRENT AFFAIRS 
 

1 C 2 C 3 B 4 B 5 B 

6 A 7 A 8 B 9 C 10 A 

11 D 12 B 13 C 14 D 15 A 

 
 
 
 
 
 



 

 

                               

                       BUSSINESS.COMMUNICATION  
 
 
 

1 C 2 A 3 D 4 B 5 C 

6 B 7 C 8 A 9 A 10 A 

11 D 12 B 13 B 14 A 15 D 

16 A 17 D 18 C 19 A 20 C 



 

 

21 A 22 B 23 C 24 D 25 A 

26 C 27 B 28 C 29 D 30 B 

31 A 32 D 33 C 34 D 35 A 

 
 
 
 
 
 
 
 
 



 

 

 

                           LEGAL APTITUD 
 

1 C 2 A 3 A 4 A 5 C 

6 D 7 A 8 D 9 C 10 A 

11 D 12 A 13 D 14 D 15 C 

16 A 17 B 18 C 19 D 20 A 

 
 
 



 

 

 
 
  

                              PRESENTATION SKILLS 
 

1 A 2 A 3 C 4 D 5 B 

6 D 7 C 8 C 9 D 10 D 

11 B 12 B 13 A 14 B 15 C 

16 C 17 B 18 D 19 D 20 A 



 

 

 
 
 

                                   LOGICAL REASONING 
 

1 A 2 D 3 D 4 A 5 A 

6 D 7 B 8 D 9 A 10 D 

11 D 12 A 13 D 14 D 15 C 
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